
1" THK STAINLESS 
STEEL BASE PLATE

SET AND LEVEL BASE PLATE 
IN 3/4" NON-SHRINK GROUT

5/8"Ø HILTI KWIK BOLT TZ 
EXPANSION ANCHOR, 
STAINLESS STEEL

6" STAINLESS STEEL PIPE

M
IN

3
 1

/8
"

REFER TO ARCH FOR 
SIGNAGE CONNECTION

3

S310

NOTES:

1. REFERENCE 20/AG3.001 
FOR INFORMATION NOT 
SHOWN

STAINLESS STEEL 
PIPE COLUMN

(8) - 5/8"Ø HILTI KWIK BOLT 
TZ EXPANSION ANCHOR, 
STAINLESS STEEL (3 1/8" 
MIN EMBEDMENT)

1" STAINLESS STEEL BASE PLATE 
WITH 3/4" NON-SHRINK GROUT

NOTES:

1. REFERENCE 6/AG3.002 
FOR INFORMATION NOT 
SHOWN

(4) 1/2"Ø HILTI KWIK BOLT TZ ANCHOR 
(2 3/8" MIN CONC EMBEDMENT)

2"x2"x1/8" SQUARE WASHER

NON-METALIC, NON-SHRINK 
GROUT AS REQ'D TO CREATE A 
LEVEL SUPPORT SURFACE

SIGN ASSEMBLY 
PROVIDED BY MFGR

3"

EQEQ

5
"

EXISTING CONC 
COLUMN

SIGN ASSEMBLY PROVIDED 
BY MFGR. BEND AS REQ'D 
FOR FLUSH MOUNT

(4) 1/2"Ø HILTI KWIK BOLT 
TZ ANCHOR, STAINLESS 
STEEL (2 3/8" MIN CONC 
EMBEDMENT)

3"x3"x1/8" SQUARE 
STAINLESS STEEL 
WASHER

SHIM TO CREATE LEVEL 
MOUNTING SURFACE AS 
REQ'D

E
Q

E
Q

5/8"x10"x0'-10" 
SS PLATE

STAINLESS STEEL 
HSS4x4X1/4 POST

7

S310

1
 1

/2
"

1
0
"

1 1/2"

10"

1/4

5/8" THICK SS PLATE

(4) HILTI HDA-P M12x125/30 
(5" MIN EMBEDMENT)

DETAIL 'A'

6A

EXISTING STRUCTURAL 
MEMBER

UNISTRUT P2895-50 
BEAM CLAMP (OR 
ENGINEER APPROVED 
EQUAL)

1/2" ALL-THREAD ROD

EXISTING STRUCTURAL 
MEMBER. SEE S100 FOR 
CONSTRUCTION TYPE

CLAMP SIGN ANCHOR TO 
EXISTING STRUCTURE 
(STEEL STRUCTURE)

UNISTRUT FRAME, AS 
REQUIRED P1000 MIN

1/2" ALL-THREAD RODS

CEILING

SUSPENDED SIGN, 
REF ARCH

HANGING RODS PROVIDED 
BY SIGN MFGR

NOTE:
IF REQUIRED, UNISTRUT FRAME TO BE DESIGNED 
AND SEALED AS DELIGATED DESIGN

(500 LB MAX WEIGHT)

12" MAX

6" MIN

7

S310

EXISTING STRUCTURAL 
MEMBER. SEE S100 FOR 
CONSTRUCTION TYPE

SUSPENDED SIGN, 
REF ARCH

THD50234RH TITEN HD 
ROD HANGER

UNISTRUT FRAME, AS 
REQUIRED P1000 MIN

1/2" ALL-THREAD RODS

HANGING RODS OR CABLE 
PROVIDED BY SIGN MFGR

(500 LB MAX WEIGHT)

NOTE:
IF REQUIRED, UNISTRUT FRAME TO BE DESIGNED 
AND SEALED AS DELIGATED DESIGN

12" MAX

6" MIN CEILING

A
R

C
H

R
E

F

(4) 3/4"Ø HILTI KWIK BOLT TZ 
SS ANCHOR (3 1/4" MIN CONC 
EMBEDMENT)

NON-METALIC, NON-SHRINK 
GROUT AS REQ'D TO CREATE A 
LEVEL SUPPORT SURFACE

SIGN ASSEMBLY 
PROVIDED BY MFGR

GC TO LOCATE PT TENDONS 
PRIOR TO DRILLING ANCHORS, 
REF S100 NOTES

T

F

E
S

A

R
O

P

S

EOI NA L

D

GN

E
I

L
C

S

ESN

E

I

N
E

R

EE
T

TO F

X

A
S

F
IL

E
 N

A
M

E
:

PROJECT  LOCATION

PROJECT  NAME

SHEET  NUMBER

www.pgal.com

HOUSTON, TX 77042
SUITE 200
3131 BRIARPARK DR.
PGAL

[F]  713 968 9333
[T]  713 622 1444

SHEET  TITLE

DRAWING HISTORY

ARCHITECT

CLIENT

D
A

T
E

 
S

T
A

M
P

: 

PROJECT  NUMBER

H
O

U
S

T
O

N
 A

IR
P

O
R

T
 S

Y
S

T
E

M

D
E

P
A

R
T

M
E

N
T

 O
F

 A
V

IA
T

IO
N

R
E

C
O

M
M

E
N

D
E

D
:

D
IR

E
C

T
O

R
 O

R
 D

E
S

IG
N

 R
E

P
R

E
S

E
N

T
A

T
IV

E

H
A

S
 T

IP
 -

_
_
_
_
_
_
_

2
0
 -

1
9
5

-
IA

H

65566

K. ELAINE ROGERS

TBPE Firm Registration No. 2194
Henderson + Rogers, Inc.

10/07/20

REGISTRATION

G
:\
U

s
e
rs

\j
o
h
n

.m
o
o

re
\D

o
c
u
m

e
n
ts

\1
9
0

0
2
_

T
E

R
M

IN
A

L
 A

 S
IG

N
A

G
E

_
R

1
9

_
jm

o
o
re

K
X

2
Y

P
.r

v
t

1
0
/6

/2
0
2
0

 2
:4

3
:1

7
 P

M

S310

DETAILS

IAH TERMINAL A
SIGNAGE &
WAYFINDING

IAH TERMINAL A
2800 N. TERMINAL RD.
HOUSTON, TX 77032

HAS AVIATION DEPT.
16930 JOHN F.
KENNEDY BLVD.
HOUSTON TX 77032
[T] 281 233 1757
[F]281 233 1800

1003770

Copyright  © 2020

3/4" = 1'-0"2
EXTERIOR POLE MOUNTED SIGN ANCHORAGE

1 1/2" = 1'-0"3
EXTERIOR POLE BASE PLATE

1 1/2" = 1'-0"4
FLOOR MOUNTED SIGN ANCHORAGE

1 1/2" = 1'-0"5

FLAG TYPE SIGN ANCHORAGE
REF 3-ID.41-S

1 1/2" = 1'-0"6

EXTERIOR HANGING SIGN ANCHORAGE
REF 3-ID.15

1 1/2" = 1'-0"7
SECTION

3/4" = 1'-0"12
TYP INTERIOR HANGING SIGN ATTACHMENT FRAME - STEEL STRUCTURE

3/4" = 1'-0"10
TYP INTERIOR HANGING SIGN ATTACHMENT FRAME - CONC STRUCTURE

1 1/2" = 1'-0"8

FLOOR MOUNTED DIRECTORY KIOSK
ANCHORAGE

№. DESCRIPTION DATE

1 100% CONSTRUCTION
DOCUMENTS

10-07-20

NOTES:
1. EXTERIOR SIGNAGE HAS BEEN DESIGNED AND 

ANALYZED FOR WIND SPEEDS AS DESCRIBED IN THE 
GENERAL NOTES


	19002_TERMINAL A SIGNAGE_R19_jmooreKX2YP
	S310 - DETAILS


